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Expand these expressions.
@ 23 + m) @52 +) & 34—y @D 45 + 2K

D 3(2 - 4f) 2(5 - 3w) @® 502k + 3m) @p 43d-2n)
@» (1 +3) @ kik - 3) @ 4 - 1) @ 2k - k)
4g(2g + 5) 5h(3h - 2) y(y* +5) @ hn’ +7)
k(k* - 5) @D 317 + 4) @ 3d(5d* - d°) @D 3ww’ +1)
5a(3a* - 2b) © 3p4p® - 5m) 4Kr’(3h + 2g) @D 2m’(4m + m?)

EXC(JSL §£

4\ 4(Sr2k) = 20 +%%k

?) A(3A =2+) = 124 - 8n
12) 2k(4-k) = Bk -2”

w) L(W3e7) = LYk

20) (2o re) = 6w +30E
24) (A an) = 32"

D) 20 3+m) = & +2m
2\ S(2+e) = 10452
3) 3(a-yy = 12 -3y
€)  32-4€) = C-12€

) 2(5-33) = 10-6V
2) S (254 3m) = 10K +(Sm



) €(ér3) - 7438
10) wW(w-3)= k -3k
1) 4€(E-) = 4€°—€
13) 44 (2344'): gcjz + 206
14) Q\(ZL\J) = ISLE - jon
5) 4 = g ey

17) k() = K-Sk

12)  Te(eirg) = 380026
12)  BA(CAA?) = 1542 — 34 #
20) Sa(3a28) = 154" — 164t

22) 3P(4/°3'_§M) = ,2f)4-—IS’"aM
23> 4 (3 +29) = [ 4—8ij
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@ Simplify these expressions.

P
a 4+ 3t b 3d+2d+4d e 5e-2e d 3r—1t
o 224382 £ 6y’ -2y g 3ab + 2ab h 7d’d - 4a*d
Expand and simplify. ﬁ
a 34+0+25+1 b 5(3 + 2K) + 3(2 + 3k)
c 403 + 2f) + 2(5 - 3f) d 5(1 +3g) + 303 -4g)
Expand and simplify. [ HINTS AND TIPS )
a 4(3 + Zh) = 2(5 + 3h) b 5(3g + 4) o= 3(2g + 5) Be careful with minus
e 5(5k + 2) - 24k - 3) d 4(de +3) - 2(5¢ - 4) fﬁ’gﬁfﬁ; ixff(’f:'i 5
Expand and simplify. h g
a m(4 +p) +p3 +m) b k(3 + 2h) + h(4 + 3k)
c 4r(3 +4p) + 3p(8 -1) d 5k(3m + 4) -2m(3 — 2k)
Expand and simplify. l
a t(3t+4)+ 313 + 21 b 2y(3 + 4y) + y(5y - 1) i
I
c 4e(3e-5)-2ele-7) d 3k(2k + p) - 2k(3p — 4k) "
Expand and simplify.
a 4a(2b + 3¢) + 3b(3a + 2¢) b 3y[dw + 2f) + 2w(3y — 41) ;
e 5m(2n - 3p) - 2nG3p - 2m) d 2rGr+ ) - 3r¥4 - 27) S

|y g€ +26 = 76

2a)  3(a+€) + 2(S+e)
= 1) +3€ +106 4£2E
= 22485t

Ja) g3 +28) -2(s+3n)
-2 +3h - 10 ~GW

= 2 +2h




4) m(4p) ¥ p(37n)
4] + mp ’\'—SP P
= 4dwm 4’3,@4—2—”‘1‘0

5e) c(36ra) + 36(3+2¢)

3 446 +9L +6ET
1e* + 13€

/I

L

é4> A« (25+35>4— 33(3a«(’2¢>
= Bah 124 + 94 +¢b,
= [T7al #1242 + 66




